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“Unidimensionality” is the characteristic of this stage of
Piaget’s cognitive development

l. Sensory - motor stage

2. Pre - operational stage

3. Concrete operational stage
4. Formal operational stage
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According to Goleman ‘Reliability, adaptability, fairness’
comes under this dimension

1. Self regulation

2. Self motivation
3. Empathy
4. Self awareness
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The age at which child laughs upon seeing known persons and
fears and cries upon seeing unknown persons

1. 4 — 5 months

2. 3 — 4 months

3. 6 — 7 months

4. 18 months age
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‘Observation dome’ was developed by

1. Gessel

2. Stanley Hall

3. Gardner

4. Skinner
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According to Erickson, a person’s ‘Ego’ is developed by

Progressing through Psycho social developmental stages.
1. ten

2. eight

3. nine

4. seven
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As per Stone and Brown, Susman etc. the characteristic of
group ‘popular’ is

1. Education is more important than games and sports
2. More participation in games

3. Standing as important leaders in the classroom

4. Interested in unconventional dressing and music
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Ranjith learnt a list of 40 meaningless words in 10 attempts.
After a week when he was asked to relearn, this time he took 5
attempts to learn. His savings score is
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“Too much of humbleness is a trait of a wicked person” comes
under this defense mechanism

1. Displacement

2. Identification

3. Regression

4. Reaction formation
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One of the following persons postulates that “three different
basic dimension or parameters known as content, operations
and Products are the reasons for Intelligence”

1. L.L. Thurstone

2. Gardener
3. Guilford
4. Wechsler
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As per Graham Wallas, the series of steps in the process of
creativity

1. Preparation, Incubation, [llumination, Verification
2. [Mlumination, Incubation, Preparation, Verification
3. [Mlumination, Preparation, Incubation, Verification
4, Preparation, Illumination, Incubation, Verification
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12.

“Learning process should be carried out based on the previous
knowledge of students” — It conveys the following
characteristic of learning

1. Learning is dynamic

2. Learning is a continuous process
3. Learning can be transferred

4. Learning is universal
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Sometimes we feel that the person or thing we are currently
seeing has been seen by us before, even though we have not
seen previously. This is called as

1. Deja Vu

2. Zeigarnik effect

3. Halo effect

4. Restart effect
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Identify the mismatch one

1.
2.
3.
4.

Receiving — Affective domain
Valuing — Psychomotor domain
Understanding — Cognitive domain

Manipulation — Psychomotor domain

RISISENETI POl Sl Totnloter

1.

L

oS0 - ararS¥ SoKo
Z)@o;%éé%céo - SPSDE 115@&5"95&§ Boxo
SIS - wmeﬁ@ﬁ BoXo

=y

TRTTWI0 - IPIVE SO E)E Boro

This is not the role of a teacher regarding concept formation

1.
2.
3.
4.

Introducing concrete concepts from abstract concepts
Providing necessary experiences for concept formation
Forming complex concepts by combining simple ones

For Reinforcing the establishing concepts
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According to the following theory, transfer of learning occurs
through understanding the relationship between the whole and

its parts

1. Theory of ideals

2. Theory of Identical elements
3. Theory of transposition

4 Theory of formal discipline
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This learning theory is closely associated with the concept of
MKO (More Knowledgeable Others)

1.
2.
3.
4.

Socio cultural theory
Instructional theory
Observational learning

Experiential learning
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Thematic Apperception Test was developed by
1.
2.
3.
4.

Murray & Morgan
Bellok
Rorschach

Skinner
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Plateau in learning curve will be

1.
2.
3.

4

Convex type
Concave type
Parallel to Y - axis

Parallel to X - axis
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The law of learning that encourages homework and recall is

1.
2.
3.
4.

Law of readiness
Law of interference
Law of effect

Law of exercise
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‘Perception model’ is prepared by

1
2.
3

4.

Bruner
Rubin
Galton
Wertheimer
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The author of the “Frames of Mind”

1 Gardner

2. Kohler

3. Thorndike

4 Ebbinghaus
“Frames of Mind” (0558
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The concept of “A student learns through experiments that the
Earth is spherical rather than flat”

1. Related concept
2. Scientific concept
3. Concrete concept
4. Simple concept
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A computer application that assesses student levels (or)

achievements

1. MOOCS

2. RUBRIC

3. FREEWARE
4. AUP
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Dyslexia is a/an

1.

2.
3,
4,

Visual impairment
Mathematical disability
Writing related disability
Reading related disability
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In Directive counselling

1. Counsellor is active

2. Decisions are taken by counselee

3. Freedom is given to counselee

4. No solutions are suggested to a problem
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According to ‘RTE — 2009° Teacher, Student ratio in Primary

schools
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One of the following is not an input device of computer
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1. OMR

2. OCR

3. MICR

4 PLOTTER

‘Wikipedia’ was started in
BB & (FE0DOAS oIS O

1. 2001
2. 2005
3. 2011
4. 2009

‘IEP’ is used by

1. High School teachers
2. Primary teachers

3. Special teachers

4. Anganwadi teachers
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As per RTE Act the number of teachers in Primary School
where the strength is below 59
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62.

63.

Your friend is going on a visit to Chennai.

You are seeing him off at the station. What would you say to

him?

Choose your response from the following.

1.

2.
3.
4

Thank you!
Keep it up!
Wish you a happy journey!

Never mind.

How careless of you to drop my pen!

The above sentence can be used for

1.

2
3.
4

Choose the option which is the primary purpose of diary

scolding
asking a question
making an enquiry

refusing a request

writing.

1.

2
3.
4

sharing personal experiences with others.
seeking validation from peers
therapeutic outlet for processing emotions.

generating income through publication
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67.

Choose the option that is an example of a formal closing for a
formal invitation.

1.

2.
3.
4

See you there!
Sincerely,
Best wishes
Cheers!

Choose the correctly punctuated sentence.

1.

2.
3.
4

Indians will build their own India, “declared Gandhiji.”
“Indians will build their own India.” Declared Gandhiji
“Indians will build their own India,” declared Gandhiji.

“Indians will build their own India declared Gandhiji.”

She has / less tenants / this year / than that of last year.

A B C D
Identify the part that has a grammatical error.
1. A
2. B
3. C
4 D

Choose the suffix that suits to get the noun from of the word

‘cruel’

1
2.
3.
4

ly
ty
1y
ness
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70.

71.

Choose the correct option that indicates the arrangement of the
words in alphabetical order.

A. conflict

B. conduct

C. corrupt

D. contract

1. D C B A
2. B C D A
3. D A C B
4, B A D C

Choose the meaning of the idiom “drive a hard bargain”.
1. to be very determined to get what one wants

2 close to the point

3. be discouraged
4

very seldom

The helicopter made a lot of noise when it from the
helipad.

Choose the option that fits the blank.

1. blast off

2 carry on

3. lifted off

4 broke apart

Choose the mis-spelt word out of given options
l. surge

2 emergancy
3. orthodox
4

suspension
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75.

Choose the option that can be used as a one-word substitute
for “a film that gives facts about something”.

1. epitaph

2 manuscript

3. a portal

4 a documentary

However, instead of being jubiliant, there was a tinge of
sadness.

Choose the synonym of the word ‘tinge’.

1. shade

2 whiten
3. bleach
4 blanch

What’s the matter? What are you looking so wretched about?
Choose the antonym of the word ‘wretched’

1. awful

2 sulky
3. defective
4

cheerful

I shifted to my seat
Choose the correct expression that fits the blank.

1. in the last in the row
2 in last the row

3. in last row

4 in the last row
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77.

78.

79.

Sheela is keen

participating in the singing competition.

Choose the correct word that fits the blank

1. to

2. for

3. on

4 with

Romit finish his homework before he would come out
to play.

Choose the option that fits the blank.
1. has to be to

2 will have

3. has to

4 had to

Don’t go to the theatre

Choose the best one to compete the meaning of the sentence

above.
1.

2.
3.
4

if you want to
if you don’t want to
if you want her to

if you wanted not to be

He asked the little boy, “Why are you studying English?”

Choose the reported speech of the sentence above.

1.

2.
3.
4

He asked if the little boy was studying English

He asked the boy if why he was studying English.

The little boy asked him why he was studying English.
He asked the little boy why he was studying English.



Choose the sentence in passive voice.

1. I noticed that a window had been left open.
2 He took over the priesthood of this temple.
3. It was fairly a large house
4

All these boys were from orthodox families.

Choose the grammatically correct sentence.
1. He does not goes to school.
2 She do not belong to India.
3. I do not write letters.
4

Vinod do not does his work.

Nepolean, who won the French honour, died at St. Helena.

This sentence is an example of:

1. a non-defining relative clause
2 a defining relative clause

3. a conditional clause

4 a compound clause

Have you heard something like this before?

In the above sentence, the word, ‘before’ is

1. a linker

2 a preposition
3. a conjunction
4 an adverb
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86.

87.

Nick has a small foot on his left hip. In the above sentence the
following is an adjective.

1.

2.
3.
4

hip
foot
has
left

As he was born in London, he became the citizen of the U.K.

The above sentence is:

1. a compound complex sentence

2 a simple sentence

3. a compound sentence

4 a complex sentence

Transportation has developed a lot in India;
trade too has improved.

Choose the linker that fits the blank.

1. likewise

2. whereas

3. yet

4 for example

I see the little trifles that belonged  father lying around.
Choose the correct preposition that fits the blank.

1. by

2. for

3. to

4 in

the
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90.

He might be the culprit.

The above sentence indicates.

1. expressing possibility
2 expressing obligation
3. giving permission
4 expressing ability

Read the following passage

Language is the light of mind. So is the English language in
today’s context. But ever since, we have become free, some
people have protested against the retention of this language,
which has pros and cons to it.

What does the passage suggest about language?

1. It is primarily a cultural artifact

2 It is the ‘light of mind’

3. It is a means of communication only
4 It is irrelevant to human thought

Read the following passages.

Language is the light of mind. So is the English language in
today’s context. But ever since, we have become free, some
people have protested against the retention of this language,
which has pros and cons to it.

‘Pros and cons’ means

1. like and dislikes

2. differences and similarities

3. advantages and disadvantages
4,

dreams and reality
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Identify the continent that spreads in both Northern and
Southern Hemispheres in the following

1. Africa

2. North America
3. Europe
4. Australia
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The excavations of Mohenjodaro and Harappa that pushed back
our history by at least 2000 years, took place in the year of
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1 1915
2 1920
3. 1925
4 1930
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Indus Valley civilization sites spread over in the following
states

1. Assom, West Bengal
2. Madhya Pradesh, Chattisgarh
3. Karnataka, Kerala
4. Punjab, Haryana
2 (308 oo bogr ok TAOES (FTFen FgRod
G0
1. oo, HyBorS
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sorens, 38
€9
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It is one of the books that laid the foundation for Ayurveda
1. Aryabhattiyam

2. Astadhyayi

3. Charaka Sambhita

4. Mudrarakshasa
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95.

96.

97.

The first Guru of the Sikhs is
1. Guru Nanak

2. Guru Arjan

3. Guru Gobind Singh
4. Guru Tej Bahadur
DI © e KO

L XHesE

2. S %S

3. K5 Ao&doR
4. 0% 3F 5osrs

Number of awards won by Sindhutai

OGSO @ocjo&@ eamcic%e) K>ozp§

l. 600
2. 750
3. 650
4. 570

The word ‘Universe’ is originated from

1. Greek

2. Aramaic

3. Latin

4. Sanskrit

DKo’ (c5A56Y) &N Deso BAMoE &5)D0D0B.
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98.

99.

The famous kannada poet ‘Ranna’ belonged to this court

1.

Cholas

Yadavas
Hoyasalas
Chalukyas of Kalyani
DG B 8D THE' B 52T BodI;E

SPeoen
o3l lN) IV

§w§e% 73‘%&5@3

The second dynasty of Vijayanagara Empire was

1.
2.
3.
4.

Saluva
Thuluva
Sangama
Aravidu
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100. Bhakti Movement was taken forward in Assam by

101.

1.
2.
3.
4.

Tukaram
Shankaradev
Kabir
Mirabai

)0 23§ &I $000HL BRIWIYS T
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L
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Both Nehru report and Karachi resolution were committed to

1.

Fundamental Duties

2. Abolition of Untouchability

3. the Universal Adult Franchise

4. Prohibition of Forced Labour

JTwe IIVE S0 Fo) BoyS0 Bokr OIS Sepesds
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102.

103.

‘Cautionary Sign’ from the following
80d AS° B 15y

)

Identify the problems faced by the weekly markets (Santha)
from the following

a) far away from urban areas
b) investment problem

C) lack of proper protection
d) lack of infrastructure

808 IS’ TT 08 SITY & (H05)IHEY 0e)
ERUSICR VY Slele e

a) Ve (FOTOW SISO GO
b)  Depwd 353§

c) VS TEE BEFHe

d)  SFOE Bo;asren BEFHE

1 a,b,c
2 a,c,d
3. b, c,d
4 a,b,c,d



104. The exclusive right over any new idea or invention is

1. Trademark
2. Patent

3. Stamp

4. License

P 2.8 IrSS S°SS B eI, Tes Ko (PSS T

Qe

LS55 8%

2. &0
3. 0D

o
4, Q?o:éo(\)

105. Identify the chemical property of a mineral in the following

1. Density
2. Colour

3. Solubility
4. Hardness

808 FIS° pAzo Bk, B ALY $omyT) KHZ0S0E.
1. JPo|g3es

2. olely®

3. |oesSedosds

4. 9@5595



106.

107.

“After the partition, disruptionist tendencies had come to the
fore; to check them, the nation had to be strong and united”
said by

1. Mahatma Gandhi

2. Sardar Vallabhbhai Patel
3. Dr. B.R. Ambedkar
4. Jawaharlal Nehru

“BY IS SHIS IR P ewen BEpd Saryow; O
AE° QoSS B¥o 2e0n, HJEoM &0Gd” @ D&Y NS

L ey ol

2 b Sparan HES
3. & 9.e35. ©0Be) &
4. w35berd JTor

These are the small scale industries

1. Silk weaving, food processing

2. Basket weaving, pottery

3. Automobiles, heavy machinery
4. Oil refinery and steel

3 WHBTI® DOFIven

1. D DOFD, e DY
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108. Three - quarters of the world’s population live in these two
continents

1. Asia and Australia

2. Asia and Africa

3. Africa and Europe

4. North America and South America

(5903 83erS” TQoe JIE"0SY 008 ([Hees B TOL
POTOS’S DSVRYTND
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2. e30055° O es(dF°
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109. A jurist of the Muslim community responsible for expounding
the law that the qazi would administer

1. Alim

2. Imam
3. Mufti
4 Mulla

szgé 3OS AEWYOD SOOI 2S5 Ko S0 HevdS
BoBS Tgo0THIS

1. d
2. 330
3. Sod
4. :,Saoegf)



110. In 19" century many people in the country believed that if they

111.

crossed the sea they would lose their

1. lives

2. native land

3. citizenship

4. religion and caste

195 $°008° BFOS' Trer 000 (Fuws SR TBS
B S YD arAoBT

1. BATeen

2. ;55"950)2;55"30

3. @dééoso

4. SBI0 B3N O3

Identify the statement of Sri Aurobindo Ghosh’s speech in
1908 in Bombay from the following

1. The goal of national education was to awaken the spirit
of nationality among the students

2. Western Education focused on reading and writing
rather than oral knowledge

Education ought to develop a person’s mind and soul

4. Education in English made Indians ‘strangers in their
own lands’

19088° 020 (B @808 53 B2S (HHoKoS
(D58 ($08 7 0oé& K80:506.
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112.  Ambedkar led three temple entry movements during the

113.

period of

0B 6 ST e ($IF &GO TGS S0
1. 1942-1947

2. 1927-1935

3. 1935-1942

4. 1921-1928

The section that was designed to ensure social and economic
reforms and help to reduce the povery of the masses was

1. Fundamental Rights

2. Constitutional Amendments
3. Directive Principles of state policy
4. Fundamental Duties

08, FITRE VoW B0 FEH 000 (Hred’ DEETY
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114.

115.

Identify the correct sentences regarding the National
Government in the following

a) Parliament of India consists of the Prime Minister, the
Rajya Sabha and the Lok Sabha

b) The Executive implements the laws made by the
Parliament

c) The Prime Minister of India is the leader of the ruling
party in the Lok Sabha

808 TUS° To(E(HEH TS H02200D HOFES TTGOD

K$o80506.
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1. a,b

2. a,b,c

3. a, c

4. b, c

Investigating any complaints of a crime is one important
function of

1. The Police

2. The Government

3. The Judge

4. The Public Prosecutor

230°98 5020009 PO $85°003E0 D8 Boo%),
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116.

117.

This Article of the Constitution places a duty upon the State to
provide a lawyer to any citizen who is unable to engage one
due to poverty or other disability

oozsoR0S) Be QLB (PO BEdZ0 Bor 38T
TEETO FY TFEHTOI AoHI0IEB J FHEZ
es oA o7 B WS (P00 P God.

1 21A

2. 31A

3. 39A

4 43A

‘The Wardha’ is the tributary of
1. The Ganga river

2. The Narmada river

3. The Godavari river
4.

The Kaveri river

T OSSO 88 &% 356

1. Ko 38
2. 266&(3" S
3. Roorsd 58
4, 38 38



118.

119.

The person who talked about the significance of the French
Revolution in India

1. Ishwar Chandra Vidyasagar

2. Swami Vivekananda

3. Swami Dayanand Saraswati

4. Raja Ram Mohan Roy

ESTIOS” (oD IS (FSoopgs K000 BOCHEDS T8

L Be%E Soll dorgrind
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Dietrich Brandis, the first Inspector General of Forests in India
was from

1. Germany
2. France

3. Spain

4. USA

TPESTIOS” J0065E3 e YRS wIES wows FSS
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3. ?oo)ooog
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120. The number of people died in China’s famine of 1958-1961

(approximately)
1. 3 lakhs
2. 3 crores
3. 27 lakhs

4. 1.23 crores
1958-1961 &°¢3 B~ E0HS° SAPo0S I8 vogy (o)

1. 3 e>§e>o
2. 3 &%
™
3. 27 o%en
W
4. 1.23 &%
(qp]

121.  According to Tendulkar Method, the percentage of poverty in
India in 2011-12 was

Botre)yd HE8 (Hs°0 2011-12 von &S ersSBIos’

DBE F50
1 37
2. 45
3. 22
4 30



122. Most of the Indus River basin is located in

1. India
2. Afghanisthan
3. China

4. Pakistan
20> S8 BT Frosos” whs arKo g Soh

1. aiefaint o
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123.

Identify the correct sentences regarding ‘Climate of India’ in
the following

a)

b)

c)

d)

The state of atmospheric conditions over an area at a
particular time refers to weather

Cyclone depressions coming from Mediterranean sea
called Western Disturbances.

During summer the northern plain experiences dry and
hot winds called ‘mango showers’

Bulk of the rainfall of the Coromandel Coast is derived
from depressions and cyclones

535 1308 IS’ rESTY TISTeT’E V0220809 VOIS

T5gR) 80506,

a)

b)

d)

P b=
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a,b,d

a,b,c

b, c,d

a,c,d



124. It is calculated as the number of persons per unit area

1. Population growth
2. Population density
3. Population change
4. Population distribution

2.5 DR TS’ GOT (Hae Doy B B
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125. It describes the connections of an area to other areas
1. Site

2. The History of the site
3. Situation
4. Settlement
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126. Several nations in Western Asia and Northern Africa like
Tunisia, Egypt were influenced by each other’s revolutions
and uprooting of dictators was called

1. Liberalisation

2. Arab Revolution

3. Globalisation

4. Arab Spring

DBYSTROIT, &ES SRSTOS’ e0gADAT, Baly S0 I
B0 2ETIS’ 2,58 (ParISF S5 ACHOSOD
FOR0BEAE JZTren $ew VHK) AV T DT,
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3. (¥DoREsE
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127. Identify the mismatched fair
1. National Food Security Act - 2015
2 The Famine of Bengal - 1943
3. Revamped Public Distribution System - 1992
4

Release of a special stamp entitled
‘Wheat Revolution’ - 1968

SY)T &X) BB K800
L 0D es5% (e $Sgo - 2015
2 BoreS S5 - 1943
3. DSHEBONS (P Hoded SGSY - 1992
@ @
4 R IPT0" DS (HBgE Fo oo - 1968



128.

129.

It describes an environment’s ability to absorb and render
harmless waste and pollution is

1. Source function

2. Sink function

3. Ecosystem

4. Sustainable Development
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Identify the odd one
1. Reichstag

2. DIET
3. Gestapo
4, Parliament
e".)@ozv’ é:\a P 700850
1. 85K
[h)

2. @&
3. Ryt

o

4. ir’g?noeg



130. It was not one of the three fold strategy that French adopted in

Vietnam
1. Improving irrigation network
2. Encouraging landlords

3. Educating the nation
4. Facilitating marketing of agricultural products
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131. “Too much centralization of power makes that power
totalitarian and takes it towards fascist ideals” emphasised by

1. Mahatma Gandhi

2. K.M. Munshi

3. S.C. Banerji

4. Jawaharlal Nehru
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132.

133.

Identify the incorrect statement regarding India’s Post-
Independent history in the following

1.
2.

JP movement was very prominent in Bihar and Gujarat

During Emergency all Fundamental rights were
implemented

Indira Gandhi nationalized many private banks

Abolishing of princely pensions to achieve social
equality

808 TUS° rES JSO|EEHOSY SHSL 2020509
RBS F°57gR) K>80506.
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This period was like a testing time of Indian democracy
Be 5700 GUSTY (Perrgdd D85 oo Joi8

1.
2.
3.
4.

1955-65
1965-75
1975-85
1985-95



134.

135.

Identify the incorrect pair regarding the organs of the United
Nations Organization and their Headquarters

1. International Court of Justice — The Hague

2. United Nations Children’s Emergency Fund — New
York

3. United Nations Educational, Scientific and Cultural

Organization — London
4. World Health Organization — Geneva
25g07a5 DS Book), DOPen SoOA T DS S OFOATOLH
D02080) HITT) BB K800k,
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The Greenpeace movement was initially started in 1971 to
protest against

1. American underwater nuclear tests near Alaska
2. Build a dam across two rivers flowing in the Silent
Valley in Kerala

3. Bhopal Gas Disaster
4. Cold war between USA and USSR
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136.

Match the following and identify the correct option

1) USA a) Nuclear attack

i) Japan b) Guerrilla warfare

iil)  Vietnam C) Civil Rights Movement
808 oA 2SBIB), DTS J0DES Ko§owos.

i) USA a) N6

i) @>S b)  Rdex g

i)  ddeno c) PETE) © &350

L i, ii-c, iiib
2. i, ii-a, iii-b
3. i-a, ii-b, diic
4

i-c, ii-b, iii-a



137.

Find out the correct statements regarding the entertainment of
disputes and benefits of Lok Adalat

a) The parties to the dispute can directly interact with the
judge through their counsel

b) Provide free legal advice from the advocates

c) There is strict application of procedural laws like Civil
Procedure Code and Evidence Act while assessing the
claim by Lok Adalat

d) There is no court fee in Lok Adalat

58 wred 59 ST PEFETw, ITCR HOI) NS
D020080W JBOTS WOFOL EHA S0k

a) S5 DODTH oNo° DTS ZEEthen I
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1. a,b,c
2. b, c,d
3. a,b,d
4. a,c,d



138.

139.

The share contributed to the GDP by more than half of the
workers in India working in the agriculture sector

1

1. 5 part
2. % part
3. i part
4. % part
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The following is not a characterstic of Formative Assessment
1. It shows how children learn

2. It indicates what children learn

3. It identifies where children are lagging behind

4. It provides a grade after the course is completed

808 TAS® AoeYeTes ¥ SHrergosso Bk, ©5E0 SO
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140. The following is not usually observed during the classroom
assessment

1 Students asking questions

2 Students participation in discussions

3. Students involvement in extra-curricular activities

4. Students reaction on problems
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141. These have a very wide scope and provide the necessary shape
and direction to the work that we do

1. Aims
2. Objectives
3. Goals
4. Outcomes
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142.

143.

The following objective is not achieved through the study of
Social Sciences

1. Developing ideal citizenship traits
2. Enhancing international awareness
3. Fostering social fraternity

4. Acquiring advanced technical skills
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The knowledge related to how a person thinks, understands
and learns.....

1. Factual knowledge

2. Conceptual knowledge

3. Procedural knowledge

4. Metacognitive knowledge
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144. Farmer — cotton crop — ginning — spinning — yarn
production — dyeing — weaving — garment production —
market — consumer.

This chart represents the above stages

1. Stream Chart

2. Family Tree Chart

3. System / Organizational Chart

4. Process Chart
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145. Self-confidence, self- reflection, initiative and guidance fall
under the following skills

1. Executive skills

2. Teaching skills

3. Supervisory skills

4. Expressive skills
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146. Characteristics of an inclusive classroom are

A)

B)
C)

D)

Providing equal learning opportunities for children
from diverse backgrounds.

Coordinating children’s participation and cooperation

Teaching with disciplinary actions such as punishment
and criticism

Actively involving children in various learning
processes

262)3&@9.“9 SOKB KO oFeTen

A)

B)
C)
D)
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147. Identify the mismatch pair

1. Projected aids - slides

2. Two dimensional aids - Posters

3. Three dimensional aids ~ — Photograph

4. Activity aids — Dramatization

250 BB Ko80S06k.
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148. “Some Voluntary organizations visited your school to discuss
about eradication of caste discrimination. What suggestions
would you offer them to eradicate it?” This scenario is an
example of the following Academic Standard.

1. Conceptual Understanding

2. Appreciation and Sensitivity

3. Reflection on Contemporary issues and Questioning
4. Information Skills
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149.

150.

“Among air, sunlight, food and machines, identify which are
free goods and which are economic goods”. The above
question is related to

1. Example question

2. Classification question
3. Discussion question

4. Observational question
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Jain texts — Angas, Buddhist texts —Tripitikas, Hala’s text —
Gatha Saptashati are the examples of

1. Sanskrit Literary works

2. Foreign Literary works

3. Prakrit Literary works

4. Dravidian Literary works

B0 (Homres —wome, &7 fomres - (@aesee,
TP (KOF0 — MErRHRIE &9

1. NSO oL BSSO
B85 Bssen
By e SiESe

Lol

(A 2L BiSSen



